TFIUTILA

1) — O ¥IBADRE DTz b DBSCIERL
R — T 1 2 3 4 GF-AENEEOSE) 5
(2F—A
@EnExz| (1) (2)
DIHE)
B o DU PR
(BRULT| Eigag | wos | SRET )| T g | o)
T sgF— | . ) DHUE D . o
i R SRS = N . = | E0 | B
e LK e I EaN ‘
oo | B | sy | TR s | T &
" A =-)
=R JovsES 1 O— LES F— L8
a b c d
g1v—F 1 |a B BIK ( BBT-RBARY2ZP ) 6-3 6-4 9-6 2-1 2
2 | T HBRF— t =37 ¥
3 |b = ( U= ) 3 6 7 5 _I 6 1-2 3
4 |c B Hixz ( BBF-RBRY2=7 ) 46 5-7 0-6 0-3 4
5 |d NG Eh ( SLZPA ) 62 6=1 6-0 3-0 1
%1 HEIER 5 ADBE. RAlOaxtc. @bxid. Gcxte. @axtd. Gbxte. ®cxid. @axte. @b¥fc. @dife. @axtbTITLET,

4 NDi5E, RRIOaxic, @bxid. @axid. @bxic, ®cxid. ®axtbTITVET.
3ADBE, FAl@asic, @bxc. @ab TIFTWET,

ZF¥S J—TJ5%



